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S =40 CSP-S 2024 ¥ RiE & 2

- BULAER (X158, 8245, #£it304%; SEARNXE—NERLETD

7E NOI Linux RGEL 40, LT B4 7T RLRR A — DB = B 307 ( )
A.mkdir B.cp -a C.mv D. touch

LAT R T HAR M AR S SR — IR ( )o

A BRI EESS

B. @A [ B A B — e /N T TR

C. BAFIR—FhoCHt st A ER S

D. Wi Zoat— il 1 e A s ORS8N B o B i R 451

X 4 MR RA T E, & ( ) A AR — MR SR 5 SR
A2 B.3 C. 4 D.5

XTHERIERE a F 0 (n 2 WIEREIRRE ), THEK o (ER 7 BUHEF IR
72 ( )o
long long fun(int a, int n)
{
long long ret = 1;
if(n<=1)
return pow(a, n);

else

{
ret = fun(a, n/2);
return retxret;

A. 53 B. =4 C. #r¢ D. &A%

HEE=SVE 0T RA LA TRE 1, 58 1178 2 MnRE 1, WS s TmirA
TRZAE )
A.8 B.16 C.32 D. 64
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10.

11.

12.

13.

THIAN A RE SO BAET KRR ( )
A WREHNE B ZEFL C. FI/KIAE D. /AR

X TEAE n NTCRI SRR ( X% &3R4 ), #4756 Frim P i [ 2 24 B
( )o

A. O(logn) B. O(n) C. O(n®) D. O(nlogn)

Z N n NEGATHRR, DU 5k PRI (B R A R AL TR ( )o

A. EEHEF B. PuEHEFR C. #HEP D. fHAHF
THEA MEFHBERERTETFES, MM 1 ST S H &89 BFS 1 B TS B
" REE: ( Do
0
o‘.e
o
A. 1432 B.1423 C.1324 D.1243

%A X R  0~10 MRS, PAATRRECH h(x) = x % 11, RALMEHRERH
SRR IR H I BT O , LG BRAL SR — 25 BB LA s 5 ik 10 WhR T,
T 0 BB IRERAL )o PRARWNIG AR, HAKIFHH(60, 34, 62, 88,22, 57, 78)
J&, T8 FFtETERR A R A N kP ( )

Al B.2 C.3 D.4

STL H Y AAS AT LI MU A as FISRER A AS . I TP A7 ( )

A.multiset B. vector C. list D. deque

Ay BIRAE BRI TS R A BRSBTS S HE 2 O Ty BT 6]
B, &8 24 MRN8 (MR MZZAEE 6) Z0F ( ) &Il
A. 144 B. 128 C. 135 D. 140

ARG SRR 0, MR 2024 MESN_UWIEETRER ()
A.2024 B. 2023 C.9 D.8
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14, WEE1={1,234,5), BBEES W ESTE AR B, B B PR/ T
A FERIE, NARMEETER ( ) T,
A. 50 B. 49 C. 48 D. 47

15. ®BEEI1={1,2,3,4,56,78}, 5 BUA= {1,2,3,4,5,6},CNA= {345} ,~BNA = {14},
ARLEEE CNBNA K ( )o
A. {3,5) B. {4, 5} C.{3,4,5} D. {4, 6}

. FiEREF GEFMATBEHASFHFEENXRTER; HMSEREY, $SiREx,
PREFIRIZAASN, FIBTRREE 1.5 9, ZBREESH 3 9, #4090

(1)

01 #include <bits/stdc++.h>
02 using namespace std;

03 typedef pair <int,int> PII;
@4 const int N = 1007;

05 int n,m,ans;

06 char g[NI[NT;

07 bool st[N][N];

08 void bfs(int x,int y) {
09 queue <PII> gq;

10 q.push({x,y});

11 stix]ly]l = true;

12 while(q.size()) {

13 PII t = q.front();

14 q.pop();

15 for (int i=t.first-1; i<=t.first+1l; ++i)

16 for (int j=t.second-1; j<=t.second+1; ++j) {
17 if (i==t.first &§& j==t.second)

18 continue;

19 if(i<2lli>nllj<1ll3>m
20 continue;

21 if (glilljlt="w" || st[il[3])

22 continue;

23 q.push({i,j});

24 st[il[jl=true;

25 }

26 }

27 }
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16.
17.
18.

19.

20.

28 int main()
29 {

30 cin >> n >> m;

31 for(int i = 1; i <= n; ++1)

32 scanf("%s",gli]+1);

33 for(int 1 = 1; 1 <= n; ++1)

34 for(int j = 1; j <= m; ++j)
35 if(g[il[3] == 'w' &6 !'st[i][j]) {
36 bfs(i,j);

37 ++ans;

38 }

39 printf("%d\n",ans);

40 return 0;

41 }

31| B R
FOREE 30 /T8N cin >> m >> n;, BFREHAL,
Z IR BB A] LA A DFS f#5e,
LEIAN

45

WSWWSS

WWWSSS

SSWSWS

SSSSWS
i, FRFSEAb .
MWFRFHE LR A E TR A 41,

IR
X FHIA
4 5
WSWWS
WWWSS
SSWSwW
SSSSW
FEIF I 2 ( Do
Al B.2 C.3
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21. AEFHEEZRER ( Js
A. O(n) B. O(n’m?) C. O(n’m) D. O(nm)

(2)
01 #include <bits/stdc++.h>
02 using namespace std;
03
04 typedef struct {
05 double x;
06 double y;
07 } Point;
08
09 Point point_init(double x, double y) {
10 Point p;
11 P.X = X;
12 p.y =YV;
13 return p;
14 }
15
16 Point point_sub(Point a, Point b) {
17 Point p;
18 p.Xx = a.x - b.x;
19 p.y = a.y - b.y;
20 return p;
21 1}
22
23 double cross(Point a, Point b) {
24 return a.x * b.y - a.y * b.x;
25 }
26
27 double polygonArea(const vector<Point>§ v) {
28 double area = cross(v.back(), v.front());

29 for (size_t i=0; i<v.size()-1; ++i) {
30 area += cross(v[i], v[i+1]);

31 }

32 return area;

33 }

34

35 void solve(int n) {

36 vector<Point> pts(n);

37 for (int 1 = 0; 1 < n; ++1) {
38 double a, b;
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22.

23.

24.
25.

26.

27.

39 cin >> a >> b;

40 pts[i] = point_init(a, b);

41 }

42 double area = polygonArea(pts) / 2;

43 cout<<fixed<<setprecision(1)<<fabs(area)<<"\n";
44 '}

45

46 int main() {

47 while (true) {

48 int n;

49 cin >> n;

50 if (n == @) break;
51 solve(n);

52 }

53 return 0;

54 }

FI| B R
55 42 F7008 double area = polygonArea(pts) >> 1;, BFIEEEBETT,
(

T A RS I AT T iR BT R 45 e, R AT LA IERR 4 R

( )
PR AT DAL R M 250 TN AR B ( )
polygonArea FIIREMEIAZ RIE ( )

EERE

cross BREIWITESERATESR ( .

A. B S E LB FE B. #EEWENELNRIZR
C. B mE AR D. BN &R

XFFHA
3
11
0 0
10
T ( o
A 1.0 B.0.5 C.0.0 D.0.6
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(3)

01 #include <bits/stdc++.h>

02
03
04
05
06
07
08
09
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

using namespace std;

class BIT {
public:
vector<int> bit;
int size;
BIT(int n) : size(n), bit(n + 1, @) {}
void update(int x, int delta) {
++X;
while(x <= size) {
bit[x] += delta;
X += X & -X;

}
int query(int x) const {
++X;
int sum = 0;
while(x > @) {
sum += bit[x];
X -= X & -X;
}

return sum;

ks

int main() {
int n, q;
cin >> n >> q;
vector<int> arr(n);
vector<pair<int, int> > queries[q];
vector<int> solution(q);
for (int 1 = 0; 1 < n; ++1) {
cin >> arr[i];

}

for (int i = @; 1 < q; ++i) {
int a, b;
cin >> a >> b;
a--, b--;

queries[al.emplace_back(b, i);
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28.
29.

30.

31

32.

41 }

42 BIT bit(n);

43 map<int, int> last_index;

Lty for (int i =n - 1; 1 >= 0; --i) {

45 int val = arr[il;

46 if (last_index.find(val) != last_index.end()) {

47 bit.update(last_index[vall, -1);

48 }

49 last_index[val] = i;

50 bit.update(i, 1);

51

52 for (const auto§& query: queries[i]) {

53 solution[query.second] = bit.query(query.first);
54 }

55 }

56 for (int ans : solution) {

57 cout << ans << ' ';

58 }

59 return 0;

60 }

FI| W R

P X RTELR A, ( )
BEB 13178 x += x & ((~x + 1 );, BFHERE, ( )
yrig 3]

BIT KA query BREAYIR MME R ( Js
A TERTINE

B. HARFFIREIFEERT|HIFTA TR

C. BRI ZHTFTA ER R A

D. AR ERSIMIAENERE

PR R EZER ( )o
A. O(n) B. O(nlogn) C. O(n*logn) D. O(logn)

WS AR arr AN TE R/ PNEAMRE, N last_index.size()M{ER( )o
A.0 B.1 C.n D.q
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33. (4

43 ) WS AK
53
32312
13

2 4

15

0 i RS )o

A.

=

UI
d

233 B.3 2 4 C.325 Do1o

EREF (BEE, 8/E3 %, #3045

(1) BSGHF, TR 0 AL, BF J Wi I E AN BT A B &

2/

01
02
03
04
05
06
07
08
0%
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

T4 E mdab, HF[abTERINE m G -BF B, BN 1e9+7 UK,

#include <bits/stdc++.h>
using namespace std;

const int M = 2005;

const int mod = 1e9+7;
int dp[M][M]I[2];
int m,d;
int dfs(int i, int sum, int small_taken, string &s){
if( @ ) return sum == 0;
int ans = dp[i][sum][small_taken];
if(ans != -1) return ans;
ans = 0;

int digit = s[i]-'0"';
int low = @, high = digit;
if(small_taken) high = 9;
for(int j = low; j <= high; ++3j){
if(i %2 ==185 j !=d) continue;
if(i %2 ==0 88 j == d) continue;
int new_small = @;
int new_sum = 3);
ans += dfs(i + 1, new_sum , new_small, s);
ans %= mod;
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34.

35.

36.

37.

25
26 }
27

return dp[il[sum][small_taken] = ans;

28 int main(){

if(i % 2 == 0 65 dig == d) is_a_magic = 0;

29 string a,b;

30 cin >> m >> d > a >> b;

31 int is_a_magic = 1;

32 int res = 0;

33 for(int i = 0; i < a.size(); ++i){
34 int dig = a[i] - '0";

35

36 if( @ ) is_a_magic = 0;

37 res = (res x 10 + dig) % m;
38 }

39 if(res) is_a_magic = 0;

40 memset(dp,-1,sizeof dp);

41 int sum_a = dfs(0,0,0,a);

42 memset(dp,-1,sizeof dp);

43 int sum_b = dfs(0,0,0,b);

L cout << ® <<endl;

45 return 0;

46 }

OALRE ( )o

A.i >= s.size() B.i >s.size()

C.1i >= sum

QabRIE ( )o
A.jt=d |l J < high
C.j==d || j < high

sk pE ( %
A. (sum + digt)%m
C. (sum + high)%m

DIERTE ( Do
A.i%2 == 1 &5 dig '= d
C.i%2 == 0 || dig != d

.1 >sum

.small_taken && j < high
.small_taken || j < high

.(sum * 10 + digit)%m
.(sum * 10 + high)%m

.dig '= d || is_a_magic

.dig '= d && !is_a_magic
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quj;

38. ObRTIEA ( )o

A.(sum_b - sum_a + is_a_magic + mod) % mod
B. (sum_b - sum_a + is_a_magic) % mod
C.(sum_b - sum_a + !is_a magic + mod) % mod
D. (sum_b - sum_a + !is_a_magic) % mod

(2) G5 n DM m ZER, BEAGRERTET AKSAER, Hin—&E84L2. 5.
1, ARAMEBARS 2 SREZAE 5 BRI, S BRI 1 S, X5 B R BRI R S
0, BT R BRAE R B — NG F IR AT X 158, B4 X Rk,
ST RKRE X, REERIIFHRFR/NIESR,

AR
HUATES NFI M, B TR MAT, SR T —KEE, 6+ THATES
i KER, B MERAZGRTEENARKE wum i, FEE—5] num i
MK,
i Ag =X
RS X SRR B/ NS EAF S
PN =217
43
3123
242
3341
i A1)«
1423

01 #include <bits/stdc++.h>

02 #define LL long long

03 #define PII pair<int,int>
04 using namespace std;

@5

06 vector<int> ret;

07 vector<vector<int> > order;
08 int n, m;

09

10 struct TopoSort {

11 int N;

12 vector<int> in, res;

13 vector<vector<int> > adj;
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14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
bl
45
46
47
48
49
50
51
52
53
54
55
56
57

}

void init(int _N) {
N = _N;

in.resize(N);
adj.resize(N);

void addedge(int x, int y) { adj[x].push_back(y), @; }
bool sort() {

}

};

@;
for (int i = 1; i < Nj i++)

if ( ® ) todo.push(i);
while (todo.size()) {

int x = todo.top();

todo.pop();

res.push_back(x);

for (const int &i : adjlx])

if (1(--in[i])) todo.push(i);

}

return res.size() == N - 1;

bool check(int x) {

TopoSort g;
g.init(n + 1);
for (int i = @; 1 < x; i++) {
for (int j = @0; j < order[il.size() - 1; j++) {
g.addedge(order[i]1[j], order[il[j + 11);

}

bool ans = g.sort();
if(ans)
@;

return ans;

int main() {

cin >> n >> m;
order.resize(m);
for (int i = @; i < m; i++) {
int k;
cin >> k;
vector<int> v(k);
for (int j = @; j < k; j++) cin >> v[jl;
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58 order[i] = v;
59 }
60
61 int 1 =0, r = m;
62 while (1 < r) {
63 int mid = ®;
64 if(check(mid))
65 1 = mid;
66 else
67 r =mid - 1;
68 }
69 for (int i = 0; i < n; i++) {
70 cout << ret[i] << " ";
71 }
72 return 0;
73 }
39. DAbREA ( Jo
A. ++in[x] B. adjly].push_back(x)
C. ++in[y] D. ++res[x]
40. QabRIE ( Yo
A.priority_queue<int, vector<int>, greater<int> > todo
B.priority_queue<int, vector<int>, less<int> > todo
C.set<int,less<int> > todo
D. set<int,greater<int> > todo
41. OARIEA ( )o
A.in[i] == 1 B.in[i] C.in[i] '= i D.'in[i]
42. @HERE ( R
A.ret[x] = g.res[x]
B.ret = g.res, ret.resize(x)
C.ret.resize(x), ret[x] = g.res[x]
D.ret = g.res
43. OKLRIE ( Ja

A (L +r) > 1
C.(L+r)/2

B.1l+(r-1+1)>1
D1+ (r-1+1)/2



